38" Cnapter 11 Intelligence

HANDOUT 11-6

How Smart Are You? - e

The followin g twenty questions represent what you may encounter on an intelligénce test, although we tried to make
them a little more amusing than the average IQ-type question. Take the twenty questions and mark your answers care-

fuily. Time yourself very carefully and work as quickly-as you can.

Time Started:

1. The day before two days after the day before tomorrow 1s SATURDAY. What day is it-today?
2. What comes next, most logically, in the following sequence? :
SAIBLCVDEERFAGNHNIIJVKELRMSNAOR .
aPY bBQ cRR d.BR J—
3. What is one twentieth of one half of one tenth of 10,000? _
4. What is the following scrambled word?

NNREAIVARYS :
5. In thc following examples, each sct of symbols stands for a word. Study all three words given and the symbol

AO® @ A o

ANOVY A A s
VORA we
DAAV

6. Which of the sentences given below means approximately the same as: “beauty is only skin deep™?
a. Some actresses are made up by the StUdIOS so that you cannot tell what they really look like.
b.  Don'’t judge a book by its cover.
c. Some people have prettier appearances than others.
d. Good looks don't matter that much.
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HANDOUT i 6 (cont/nueo’)

7. Wthh of the ﬁgules shown below the lme of drawrngs best contmues the sequenoe’? .

0.
B S T

14,
7 a.poem.- b.novel - “c. painting - d. statue - . e. flower .
- 16. _What is the followmg word when itis unscrambled" o
1T

:18..

B 1]

Canoe is to ocean liner as glider is to: = - :
a. kite” " b. arrplane + c.balloon” "~ -d. car N :
Everyone atthe Mensa party contest won prizes. Tom won more than Sally, Ann won less than Jane Jane won

" less than Sal]y but more than Walter. Walter won fewer prizes than Ann. Who won the most prizes?
‘There is one five-letter word which can be inserted in each of the.two blanks below When you have put in the
- right word, you will have four fiew words, two on each line.
. (Example: Place WORK on the line between HAND
- PLACE ) B : T

PLACE; giving HANDWORK and WORK-

BOAT : WORK

. - : DOG_____ HOLD :

Tom er Peter ‘Susan, and J ane all took the Mensa test. Jane scored hrgher than Tom Jtm scoxed lower than »
Peter but higher than Susan, and Peter scored lower than Torn All of them are ehgrble to Jom Mensa but who "

_ ' had the hrghest score?
S12

If it were two hour_s later, 1t would be half as long unul rmdrnght as it would be 1f it were an hour later What

time is it now?

Pear is to apple as potato is to R

a. bariana: b.radish . c. strawberry d lettuce S

Contlnue the followmg number series below with the group of numbers which best contmues the senes
: o 110395877967? I

a115 b105 ‘-0104 d116

Which of the followmg is Jeast like the others'?

HCPRAAILU

'What is the number that is one half of one quarter of one tenth of four hundred?

Which of the sentences given below neans approxrrnately the same. as ‘the’ proverb “Don t count your chrckens ;

" “until they are hatched”?

“'a. Some eggs have double yolks S0 you can treally count eggs and cluckens

b “You can twalk around the henhouse to count the eggs because it wrll drsturb the hens and they won't lay

‘ '. eggs.

~Itis not really sensrble to rely on sometlung that has not yet happened and may not ever happen -

- d Smce eggs break so easﬂy, you may not be accuirate in your count of future chickers.”

19,

‘The same four-letter word can be placed on the blank lines below.to ‘make two néw words from each of those

" shown. Put i in the correct four-letter word to make four new words from'those shown below -
. (Example HAND could be placed between BACK ____ WORK to make BACKHAND AND HANDWORK )

“HEAD .~ MARK °
- DREAM____ FALL
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20. .Which_ of the figiires shown below the liné of drawings b:e:st‘ completes tﬁé ser';es?

[T [T T[T 1
e e it e
el it A

‘a R b . d

Tee

" Time finished; ___

Soﬁmg:: Intelliéencé teﬁt frou:a The Méﬁsa book‘of ﬁ‘b}ds, word games, puézles, and oddiiiés'(pb. 145-149) by Victor
. Serebriakoff and Abbie F. Salny, Copyright © 1988 by Abbie F Salny. Reprinted by permission of HarperCollins
. -~ Publishers, Inc, . 0 e T e e

S L .



HANDOUT 11-7

. Analogies Test

Tlme started

Time elapsed

CCne, oo

Choose the word or number in the second pair that 18 most closely related to the ﬁrst For example Apple is to pea: as~. __

1.. Potatoes are to peanuts as apples are to:"

" a)carrots b)lilies . ¢) peaches d)’tomatoes
~ &) cucumbers :
2. Spain is to Argentina as Portugal is to:

1L

12.

a) Trinidad b) Bra21l c) Mexico d) Guyana S

") Canada
3. Celsius s to 0° as Fahrenhen is to: .
a)100° b)0° ¢)32° d)212° e) 112¢°
4. Drachma is to Greece as peseta is to:
a) Mexico b) Italy c) Canada d) Brazil -
e) Spain
5. Loops is to spool as straw s to:
- a) pinker b) hay c) pamtmg d) warts.
e)rosy -
6.. Napoleon is to Melba as macadam is to:
a) roads b) pomsema c) overshoes
d) trees e) food C
7. Rich is to money as leafy is to:
- a)vase b) foliage c) mountain
d) flower e)dog - '
" 8. The number 2 is to 8 as § is to: v
- a)15 b)100 ¢)125 d)10 )60 -
9. 1789 is to France as 1648 is to: _
a) Germany b) Switzerland c) New -
Zealand d) United States ¢) England
10. The letter A i to E as B s to;
 a)C HD )G dH e)Q

Time finished _ "

13,

16.
© a)sun b) earth . c) galaxy d) planetmd

17,

' veal is to a) pork b) ﬁsh The answer would be a, since apple and pear are both frmt and veal and pork are both meat.

Retort is to chermst as ramekm is to: .
a) painter b) engineer c) dressmaker

- d) cook . e) lawyer -
Black Beauty is to horse as Lassm is to:

a) cow b)bird ¢) dog d) whale e) citnel -
Palette is to artist as kiln is to:

"a) potter  b) pamter ¢) goldsmltn d) wnter
- e)cook
“14.

Ceylon is to Sri Lanka as Constantmople is to:

-a) New Constantine b) Leningrad -c) New York
- . d)London e) Istanbul -
15.

The Raven is to Poe as Gone Mth the Wmd is. '
to:-

a) Mxtchell b) Keats c) Robbms d) Susann
€) Blake = )

Star is to constellatlon as constellanon is to:

e) moon
Onions aré to leeks as crocuses are to: _
a) apples b) saffron - c) tuhps d) lilacs’

- . e)bananas

18.

Reagan is to Carter as Truman is to:

" a)Dewey. b) Jackson c) Kennedy

20.

d) Roosevelt e) Jobnson ~ -

. - Halley is to comet as Broca is to:-

a) pnntmg b) tires ¢) automobxles o
d) bram e) fruit
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Source Marvm Grosswuth & Dr. Abbié Salny, The Mensa genzus qutz book Copyught 1981 by Marvm Glosswmh
Repnnted vnth permlssmn of Addison- Wesley Publlshlng Company, Inc. (MENSA 1- 800 66-MENSA Code 4794)




